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by 1nspection x=b'-c', ?=c2-o2, :=ot -b' will satisfy tho
equationî and reduce it to an identity, and theso values are easily i/04 Editor /f the CANADA SvnOcL JOURNAL
v'eritied on trial.vr flook-worria. ()Lta,/;, hoterts DEAit Siit,-Yotir criticiîî in the Octoher nuaiber of tho Jovit-

7. (a) Book-wok-. (b) Let a, ß; K, ) bo the respective roots A, o te First Reter, 'oii School Course, ave given
a+fi=m-a, a0=lb' ; +p=b-m, Kl,=a' and a-fl=K-p. satisft

Take 1+5 and 1-5 and 4a,3=(mt - aY- (K - p)2
=4

1
,. And fron I

3 and 4, (K - p'=(h--m') 412. Substitute in the last equationi book is net n iinprovcnent on the sybtcm of school music in use
and .(.-b')=2n.(:-b) &c. before.

8. Clear of fractions and we have to show that The songs wo havo hecî nccustonîod to wcre of n elevating and
(a-b)(1 +c+ +ab)+as=(a-)(b-c)(e- a) rfied nature, containing ioial or patrioti stient, ad

.e. (a-b)(ca+ bc+abe')+anls= ,, e i .(a -b)+anls=O. wo fee the subject lins degenerated in the ncw books, which
or (a::- bc)(a+ b+ibe-)+anl a e (s tg aboond in tiashy stuif such as "Motier Goose," and ' Nursery
i. e.. (ric- ic)(a+b)+anils= (,,) (n) (r) -: (ac-bc)+anls=0. osui." Icntsutefrcorheitiisrcin
or c(a'-b') +ans=(a-b)(b-c)(c- a) which is truc, .. &c.

2Nn Sor.Tro.-Nr. of sumn=(a- b)(I+lbc)(I+ca)+anl+tanl. ny pupils in that class of aongs. It niay bu considercd pardon-
(a-b)(b- c)(c - <a) is one factor of threo dimensions, since the sun ablu in a book arrangod fou very young children who have
vanishes for a=b, b=e, or c=a. Wu may expect another factor of to ho tauglit hy rote, but %vhen the saie kind of matter is intro-
2 to nake up the required 5 dimensions. Hence put duced into ho Second Render-a book for advanced pupils-1
(a-b)(1+ be)(1 +ca) +anls=(a - b)(b -c)(c-a)

{K(a'+b'+c')+l-Q(ab+&c)} consider it, to sy thu least, unsuitablo. I liopu yun wil notice
-SouHANflOJ<, . 29; ANAD Scsoo. JORYA, My ~ this point in your nCxt isa,.o, togethor with otlior palpable faulta.-See HANDBoox, P. 229 ; CANA.DA ScIloot JOURNAL, May No .,p. 104. SThrely in th wide rage of appropriate school sone soiething

Putting c=0 and rcducing wu have botter could bu foure d for rani ar moalo pupils thai the on on
1=K(a+12 )+Q(ab) ; .*. Numiertor=(a-b)(b-c)(c-a) onIy. page 12, Second Ileader:

9. (1) IaIlgives bound Tiher was a piper "laoh co Ga,
Nosne" lie ad siught te give lier,

(x-y'-'(x+y'=(-b)- (a3b)Ho 'ptllled out bis pipes aiid i)layed lier a tune,
my pupi i at ul tse Iow consider
abl in a- TIe cbcw considoned very well,xy I~~t(a+8b)+ %'(a-b)o be t (a+3b)-a t(a-b)u, say, And gave tIm piperka peoany," &ic.

x=my. And fromt I1, y=orb ÷ e(n'+mt) &c.
(2) (x' -y')(xe+y)÷(x - y)=a I.

(<- y')(x -y)÷s.(xty)=h f I1.
:. (x+y)÷(x--)=/a÷v'b= ni, suppose. (A.)

:.x+y = (In+1)÷-(ni - 1) ; x = ytmn+1)÷--(i-1
Substitute this value for x &c.
Or, add and subtract I & Il and put y=:x.
(3) Cuba by formula, p. 11, TEAciiEits' HANDBOOK, and then

Vm (x- Jt! 2)=0 .. x=/2, onle solution.
Aise 3 Y(x+ . 2 )= - 12, :. x=-2

21 1210. (1) 8=1- - + ,-&w; S÷m= - - +&c.
(ni-) a n:.r 3(+1i)÷mn=(mn - 2)÷.(nm-1), and S=rnrn -

2 )÷(ms'- 1).
(2) S=1.f3+7+&c., 2 S= 2 +6+14+&c.

(3) Put n=1, 2, 3, 4 respectively and we get the series req'd,

11. (n+1)(n)'( -1)(n - 2)÷.=9(n)(nî -1)÷

12. (1+x)"=1+unx+&c. +x", where n ternis containîs x

Equally edifying with the above is the song on page 67:-
Toml ho was a piper's son,
He Iearned to play whsen he vas young
But ail the tunles that ho could play
Was 'Over the hills and far away.'"

These aro two instances out of giqte a large nuiimber of wishy-
washy songs which it is quite ridiculous ta expect pupils who have
long sinco quitted Babydom to sing with taste or even te learn.

I cannot see that the Problemn of Singing at Sighit is any nearer
being solved now thian it was before. It may b learnîed fron the
" Normal Musie Course," but certatiily it vill tike liarder study
and lo.nger tine-liaiin can be devoted to it in our schools. Tho
Tà-trrO.iig aloine would occupy all the time we can spare, and it
will require no small diligence on our part to learn tiat new
laiguage-evidently elementary Fiji. Yours, etc.,

CITY TEACHER.

thero are n+1 ternis altogether.
2x 2 .5.x 2 2.5.8.*xa 2 .5.8.11.z SOME WAYS TO ELEVATE THE TEACHERS'

(1) (1x 1+ + 3:+ - 1 333 3+- 3  +&c. PROFESSION.
Ass. =110.é-÷243. -

(2) The (n+1)th=niddle terni, since 2n is even. BY H ,MEIL B. SPRAGUE, PH. D.

This termn is i x», which is reducible to I. We should, perhaps, reverence more highly our calling. Wor
1, 3, .............. ( 1 ÷ . should be more keenly alive to the fact that the nost vital initerest's

of any comnunity is the righît educaton of the youig; that the
greate-t service that can bu rendered to a child is to train him up-
in the way lie should go; ail that the five or six houts a day inRead carefully the Prospectus of the school give the instructor a greater opportunity than the minister,

Canada School Journal Printingl and Pu>.. or even the average paren. possesses.
lishing Company. .Do nIot hesitate to take 11. Teachers should iake themsaelves more worthy of respect,

. .tfitting themselves with the utnost care and with endless p'instak-sitares. The invstment s profitable andi ing for their work. This involves, amsong other things, a highser
secure. standard than now of the following requisites:


